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1T ARSI E D™FEI ALY 39,000,000 39,000
Al 19,500
- 19,500
FOXXNAH 24 2435 20,000 20,000 0
201 et 9| 6,800 6,800 0
01 AP 2t 2] H| 300 300 0
(2daY) 300
1. F0XNXNME T2 HAHSG AAIRS
=Gt 100, 000& *3H 300
03 A2 E H| 6,500 6,500 0
1.F0 XA T2 A3
6,500,000& 6,500
202 o4 | 2,000 2,000 0
01 2L I 2,000 2,000 0
1. =01 XX ! OIXFXR 4= Al AS
= 100,000& »20H 2,000
301 et A 8,200 8,200 0
09 & AF&!H| 8,200 8,200 0
1.0 Xt FOIXIX S5 Atdl HE
= 100,000& *30H 3,000
2. 01Xt U3
5,200,000 5,200
303 A2 3,000 3,000 0
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PN HEX D
M FOIXX JIgH 2st
thelr 2E s2H4H XA (cho &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o dio = HImEET
0 &t o
1.8 XX S==Atell EEE
1,000, 000& 14 1,000
Al 1,000
s d&8 XA 2,280 2,280 0
ZE0I2A =20nd 29 2,280 2,280 0
201 Let249] 2,280 2,280 0
01 At 22l 2,280 2,280 0
(Yet==gHl) 2,280
1.Z2E2018H&=20na28 DA
10,000& *2402 *95% 2,280
=lHuFE 435 35,810 35,810 0
NOH2A XXM 2 wEEdst 35,810 35,810 0
201 £B-2dH| 9,310 9,310 0
01 At 22l 9,310 9,310 0
(Yet==gHl) 9,310
TLAMMZSE DEMY FH0 GHE NASLS
2L EE2E Y S 7,000,000 x95% 6,650
2. N0 Al SH =&t & HAX M
500,000& *95% 475
3.EHEY 250, 0003 *4JH *95% 950
4.s82 ot XAX U=
200, 000& *43| *95% 760
501552 ¥z 200,000& *95% 190
6.00M= & S0 300,000& *95% 285
202 44l 4,000 4,000 0
01 SLHOIYI 4,000 4,000 0
T.RAMZ S WFRAY 0l 4,000,000& 4,000
203 YR =&l 2,500 2,500 0
03 Al Z=XH R =AH| 2,500 2,500 0
T WFAY HEFE 2,500,000 2,500
301 LPEXZ 5,000 5,000 0
07 2el=& 0ol bl 5,000 5,000 0
TAHZHEH A8 =H A 5,000,000& 5,000
307 21201 A 15,000 15,000 0
04 DIZHHALALSE E X 15,000 15,000 0
TAMZHEH I AL XA 15,000, 000& 15,000
HE2HZH(HE XA D) 59,556,654 56,516,314 3,040,340
= 80,283
T 59,476,371
ERIH(BE2Y) 58,253,101 55,249,777 3,003,324
= 80,283
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1% 02 oA
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H0 Mo =
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Ho 0X
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SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
- 58,172,818
ol 2 H| 58,172,818 55,159,706 3,013,112
101 2124 d| 38,161,447 36,470,223 1,691,224
01 2 37,647,806 36,211,172 1,436,634
(22) 28,833,330
1. 92 M (36%) 3,182,544
. 2EE 107,440,000 ~1H 107,440
L. 22FE 101,568,000& *1H 101,568
Ch42 (23 92,915,000 x5 464,575
ct. 53 (A 82,295,000& x29H 2,386,555
OF. d<LH&HI 3,060, 138,000& *4% 122,406
2.2 3H(644Y) 25,650,786
.63 (2858 2) 4,271,300 x170¥ x12& 8,713,452
L7217 2) 3,327, 700& 250 128 9,983,100
Ct.82(8&5=,184Y) 5,037,126,000& 5,037,126
c2t.o3(65E) 1,928,200& x40 x12& 925,536
OF. H L H&HI 24,789,285,000& *4% 991,572
(M=) 3,008,190
1.UHRSRI=Y 347,611
Il 2R (63285 =2)
4,271,300& x4 . 1%*x84H x12& 176,525
LI.6BUHR(T731782)
3,327,700& *4 . 1%+ 103X x12& 168,635
72083108 )
2,490,800& x4 . 1%*x2H x12& 2,451
2.8332 ¢ 25,739,257,000& x1/12 2,144,939
3. 832G otet32 498,840
JF.25E 0] & 130,000& x164H «12& 255,840
L}. 20 0] &8 ~254 0] BF
110,000& 25 x12& 33,000
Ch.154 0] &~20 0] 28 80,000 *89H = 12& 85,440
2h. 108 0| & ~15E 012 60,000& «83H x12& 59,760
OF.59 01 &~102 012 50,000& *108H = 12& 64,800
4. 2HISRA =Y 16,800
. =225, Al 50,000& x12H = 12& 7,200
Lt 100,000& x8H »12& 9,600
(JtHEE 24 805,920
1.0t52Y 445,920
O i S Xt 40,0003 335 ~ 128 160,800
LEJIERDFS (RFE M Q)
20,000& 213 x12& 51,120
Ch. X4 60,000 325 »12& 234,000
2.2 Y 1,500,000& 20 x12& 360,000




SN HEXE D
Sl

M. HMSAHH (AKX )
Crel: o2l (RE2Y) (el @)
SH-HH . B(SH) - HBAMY - B2 o A o SSa HDE2

(SE4222Y) 269,040
1.9 822xY 15,120
.23 50,000& «10¥ x12& 6,000
Lh.g93 40,0003 19 x12& 9,120
2.ExgRY 253,920
b JlsdEsY 121,440
1)52 0l & 50,000& x5 x12& 3,000
2)6~73 30,000& *108H «12& 38,880
3)8~92 20,000& x990 x12& 21,600
4)I18EZ2 (D1 = A1) 50,000& 1 x12& 600
5)JFAEZ2 (D1 AF) 30,000& 130 = 12& 46,800
B) A (A DIAF) 20,0002 %20H « 128 4,800

TV Z2(ANSA2FER)
20,000& x24H x12& 5,760
L. o2y 6,000
1)2=9 g2 250,000 »2H = 12& 6,000
Ch. 82 Y 12,840
1)3E 0] AF~4 0] Bt 250,000& x1H x6& 1,500
2)2E 0l AH~3E 0| 2 150,000 x5 H x6 & 4,500
3)1E 0l a~23 0] B 90,000 x4H x12& 4,320
4)14 0| 8¢ 70,000& *3H x 128 2,520
ct.Ex8RY 113,640
NG L 50,000 «11¥ x12& 6,600
2)ALA S 2 20,000& x5H x12& 1,200
MBI EXER 70,000& *90H x12& 75,600

4N XS 20142
30,000 x68H x12& 24,480
5) Al 2HS BRI 160,000& x3H x12& 5,760
(HOEX+H) 700,000
1.H0E A 700,000,000& 700,000
(AlHl24a 5) 4,016,326
1. 3 HZAH| 140,000& x680H ~12& 1,142,400
2.9 & 5 0ty| 25,739,257,000& x1.2/12 2,573,926
3.0 A (AHEED]) 300,000, 000& 300,000
(S22249) 15,000
1. Sag24g 15,000
b, Hlaz22s4Y 50,000& 25 1201 & 15,000
02 JIEA 2 %= 63,641 59,051 4,590

(AP BRI DM 982 A 48,641
1.9 1,300,000& »2H ~12& 31,200
2. 42 & | 31,200,000 *4% 1,248
A2 ELE 8,887 & x2H x25A| 2tx12& 5,333
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SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
4. X2 8| 72,500& x2H x 128 1,740
5. 83 M3 A 140,000& x2H ~12& 3,360
7.8HSY 35,000& x»2H x12& 840
8.0IRYE+E 25,000& x2H x12& 600
9.5 ¢ 1,920
It B < Xt 40,000& x2H x12& 960
LE.JIEHIS 20,000& x2H x2H x12& 960
10 A28/l =S 100,000& x2H +12& 2,400
(DIEt= 2 %) 15,000
1. 0888 (20],¢€3 9,000,000& 9,000
2ANZEEHBSRA EHAZ 6,000,000 6,000
03 Z2LE(LIH)22XEL 450,000 200,000 250,000
1.22222 X &2 150,000, 000& 150,000
2 A2t 22 50,000,000& 50,000
3.20214 304N 2= =2 250,000,000 250,000
204 &2 = ZF H| 1,316,160 1,294,200 21,960
02 &= &E xH| 1,316,160 1,294,200 21,960
1.2 32 X4 (680Y) 1,316,160
o2& & 650,000& x1H x12& 7,800
L. 225 & 500,000& x1H x12& 6,000
Ct.42 400,000& x5H x12& 24,000
ct.ba 250,000 29X «12& 87,000
0t.62 165,000& 1709 »12& 336,600
bh.72 155,000 250 128 465,000
Ab.8~92 145,000& »224H « 12& 389,760
303 ZA& 2 3,654,484 3,654,484 0
02 A= 3,654,484 3,654,484 0
1.40AH 3 3,654,483,280& 3,654,484
304 H=2R2E=2S 15,040,727 13,740,799 1,299,928
01 =R =2 12,244,290 11,158,602 1,085,688
1.092822 & 283 10,215,489,000& 10,215,489
2.E| MRS 1,895,016,000& 1,895,016
.ol 2R3 133,785,000 133,785
02 20AHALEE= 2,796,437 2,582,197 214,240
1.20A08282 (L8, J|EE 5)
73,106,830,000& *3.43% 2,507,565
2.0 20 eAEEES  2,507,565,000& x11.52% 288,872
IIEBASEANDHE ZHIAA (22 80,283 90,071 £9,788
= 80,283
101 @121l 80,283 90,071 N9,788
= 80,283
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SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
01 2 80,283 90,071 N9,788
(22) 80,283
1.IIE2RASENMNRE SRS 22|
80,283,000 80,283
= 80,283
ol A 843,116 813,960 29, 156
ol 2AH| 843,116 813,960 29, 156
101 2121 4| 816,707 813,960 2,747
01 2% 151,628 143,803 7,825
T A2 2 (LBHA) 132,197
ot.e=2 12,1243 128 x34 A| 2t x 12& 59,360
Lh.72 10,952& *11H x34 Al 2tx 128 49,153
Ct.8=2 09,8322 x5H x34 Al 2tx 12 20,058
ct.92 8,887 1«34 A 2+ 128 3,626
2AN2AAZR2 LS (£HSTR) 19,431
ot.e2 12,1243 x2H 46 A| 2t 12& 13,385
Lh.72 10,9523 *1H *46A| 2tx12& 6,046
02 JIEA 2 %= 421,781 405, 106 16,675
(LBHADIH 724 E) 71,025
1.898 58,860,800& *1H 58,861
2A2AHLAIZ RS 10,9523 x1H x34 A 2tx 12 4,469
3. XM IA Y| 58,860,800& *4% 2,355
4. 2Z 5 XH| 155,000& 1 x12& 1,860
5.8 ZAH| 140,000& x1H ~12& 1,680
6.0Hol & S b 50,000& x1H x12& 600
7.5 1,200
OF Ui < Xt 40,000& «12& 480
LE.JIEHIS 20,000 *3H x12& 720
(MZPEEBHAIH 82 aH) 86,543
1. & 34,320,000 x2H 68,640
2. NM2AZ2REY 9,733 3 x2H x34A| 2tx12& 7,943
3. 22 X4 155,000& »2 x12& 3,720
4, HHZAH| 140,000 x2H 128 3,360
5. Holg sl 50,000& 2 x12& 1,200
6. IIExE 1,680
JF. B X+ 40,000& x2H x 128 960
Lt. JIEHDFS 20,000& *3H x12& 720
(MAFZZ] 2 DIRA0HY HRAAHZF) 264,213
1.9 259,924
D =10 181,075
1)23E 0l & (295 2)
3,875,600& x 1P x12& 46,508




SN BEXAD
B sENSAHY (BN
chel: ol gyl CEEEED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
2)235 01 & (BZ =)
3,842,600& x 18 x12H 46,112
3)23E 0l AFH (245 )
3,683,300& x 1 x12& 44,200
4)154E 0l A (195 )
3,107,500& x1¥ = 12& 37,290
5)d <0 & 8l 174,110,000 *4% 6,965
L. 8=2x¢ 181,075,000 «1/12 15,090
CotE4 5,520
1)1 2 Xt 40,000& x4H x12& 1,920
2)JIEHIIE 20,000& «15H x12& 3,600
ct. 8329 It =2 5,640
1)25E 0| & 130,000& »3Y¥ x12& 4,680
2)153 0] At20E 0] B+ 80,000& 1 x12& 960
0. A2 22 Y 17,691
1)23E 0] 430 0] B+
11,002& 3% #34 A 2t <128 13,577
2)15\1 0] At231 0] 2
10,0833 *1H *34A| 2tx 12 4,114
bt & M ZAlY| 140,000 x4 «12& 6,720
SRRy ] 7,320
1)23E 0l &30 01 2 155,000 »3&H x 12& 5,580
2)15E 0 A23E 0] BF 145,000 x1H « 128 1,740
Ot .Y & EDtH| 181,075,000 «1.2/12 18,108
It 2dSHEE(XH) 30,000& x1H ~12& 360
X CHel & SHI 50,000& x4 «12& 2,400
2. 18858 & 259,924 ,000& *1.65% 4,289
03 BLA(RIHS) 22 XNHE £ 243,298 265,051 N21,753
(BEHAH2EX) 34,628
1.8 34,628
.20 (102 8) 1,776,160& x 1« 12& 21,314
L. &= 1,776, 160& *240% 4,263
Ct. 9 & F0ty| 1,776, 160& *120% 2,132
. HHZAY| 140,000& 1 x12& 1,680
0. 0S8 x&H| 120,000& x1H ~12& 1,440
H AIZEQI 2R 2
11,4403 *150%* 10Al 2t x1H «12& 2,060
A ARG 91,520& » 12 19 1,739
(X HHA2HEX) 37,099
1.8 37,099
.20 (225 8) 1,889,660& x1H ~12& 22,676
(N0 = 1,889,660& 1™ *240% 4,536
CH. 2 & &0yl 1,889,660 1% *120% 2,268
ch. 33 AH| 140,000& x 1H x12& 1,680
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SN HEXE D
Sl

M HY2IAZH(FFXJ D)
chel: ol gyl CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Ot nEE =4l 120,000 x1H x12& 1,440
g A28

12,0903 x150%* 10Al 2hx 1 x 128 2,177
A AR =E 96,7203 x 1 +24 2,322
(FUHAY BAH) 171,571
1.8+ 171,571
.2 105,310
1) 158 & 1,825,160 »2H x12& 43,804
2) 452 1,715,160 x2H x12& 41,164
3) 288 1,695,160 x1H x12& 20,342
L. &0 2 21,063
1) 158 & 1,825, 160 & *2H x240% 8,761
2) 458 1,715, 160 & »2H x240% 8,233
3) 28 = 1,695, 1603 * 19X x240% 4,069
Ct. @ EZ Dl 10,533
1) 1588 1,825, 1603 «2H «120% 4,381
2) 458 1,715, 1603 »2H x120% 4,117
3) 25 & 1,695, 160& * 1 x120% 2,035
et Al 222 10,188

1) 1588
11,7203 x150%* 10Al 2t x2H x 12& 4,220

2) 452
11,0903 »150%* 10Al 2t x2H x 12& 3,993

3) 28
10,9703 x150%* 10Al 2t x1H 123 1,975
Ob. Xt 7,917
1) 158 & 93,760 x2H »21 3,938
2) 458 88,7203 x2H 15 2,662
3) 28 = 87,7603 x 1«15 1,317
Ht. W S 2 =t 120,000& 5 128 7,200
Ab.Z A Z A 140,000 x5H x12& 8,400
Ot. Z2FAr2tel =g 50,0003 x 18 «128 600
. 8dxelA=g 30,0003 x1H 128 360
304 HBRE3S 26,409
01 H=FE= 10,949
1.200¢63 B8a 243,298,000 *4.50% 10,949
02 =222 2E= 9,308
1.30204% B2 243,298,000& *3.43% 8,346
2. LI QAEES 8,346,000 *11.52% 962
04 SR (RIHY)2ENVEBEZRLESS 6,152
1. 08282 243,298,000& *1.65% 4,015
2.AMTHEE = 243,298,000& *0.878% 2,137
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SN HIXAD
B sENSAHY (BN
& 123l (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Jl= &l 460,437 452,577 7,860
Jl=dl 460,437 452,577 7,860
201 Let24d] 222,397 222,109 288
01 At 22/l 220,423 220,165 258
(2ergHl) 49,709
L2NEY S 200, 0008 *34% »80% 5,440
2REMSYLBUN(EY 2RHY =)
1,000, 000& *3H 2~ x80% 2,400
ERAHEAMN 15,0002 x612 %25 1,830
4. BRSNS WIHL S S A AIH & 1A
10,0003 61 x25 *x95% 1,159
SRAIRR=EE 3,147
b.=sLX 15,0003 *3H At *4 2«12 »95% 2,052
B ONE= PN 12,0003 *2JH At x4 2 123 *95% 1,095
6.2RADNATA Y
3,500 & *3& *302 x 123 *95% 3,591
7. E3ANR= 15,0003 *2IH At *3 « 122 *95% 1,026
8.F2UX7= 15,0003 *2JH At *32 12 x95% 1,026
9.€ 84 2| 19,018
o gRBED Me
200,000& *53] 123 «95% 11,400
LHERA A2HIS 70,0003 123 *95% 798
Cgxa 340 YRE
30,0003 *2CH*12& 720
ch. g2 ZIIEFI gz
50,0003 *2CH 123 1,200
O g2 234 250,000 128 3,000
H.EXa H7R DAH(HESIAZE)
2,000,000 %95% 1,900
10,840 ARNB(FZA, PHTH YN
o) 30,0003 «3CH+122 1,080
MBI ZLRARES (XU, JIsUH)
200,000 128 2,400
12.212/4 sZFH 2 22
3,000,000& 14! 3,000
13.7238& 22X isE 3,000,000& 3,000
148N D552 SH=
200,000& *2CH 23] 800
15. 222N A8 R XE 5
33,0003 «2CH*12& 792
(=4l) 18,944
1.8 RFAI ==&l
8,000 x29F 641« 123 16,704
2 NS, Sxcl&d o=l
8,000 *40H 241 x52 x70% 2,240




SN BEXAD
B sENSAHY (BN
erel: Jl= 2| (29 a8)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
(ml=4l) 2,670
1.333F 15| 2,670
H.2ge=2 180, 000& *5H x23] 1,800
L. 223t 150,000& *5H 13| 750
Ch. 29 24,000 x5 120
(2d4Y) 149,100
1.8 110,700
Jb. B Al 60,000& x5H *365! 109,500
L. BI&AA & & 60,000& 1«20 1,200
2.4 8+ 36,300
I E Al 60,000& x5H »117L 35,100
L. HIAA & & 60,000& 12 »20 1,200
3. 323 AQ S P4 G 2,100
ob.oI=2 70,000& *3H x73] 1,470
L. =01 30,000& *3H x7 3] 630
02 35244l 1,974 1,944 30
(ZZ2L22LHA) 1,974
1.28Z 1,974
IS0l 2,530& *50E + 128 1,518
Lb. Bt 3802 x100S ~12& 456
202 044 77,580 70,500 7,080
01 2LH0HI 64,080 62,400 1,680
1VEEXNJA N RF=XII2 0]
20,000& 102 *x26H +12& 62,400
222X A2EF =0yl
20,000& x7H x12& 1,680
02 EHN Y| 13,500 8,100 5,400
1.8 L AISER, B A22 K
225,000& x5H = 12& 13,500
203 ¥ R =&t 132,560 132,068 492
01 J|2A2I PR =&Y 92,070 92,070 0
1. & 58,300, 000& *90% 52,470
2.2y E 40,700,000& *90% 36,630
3.2 = 3,300,000& *90% 2,970
02 RN HRFAH| 35,900 35,570 330
1.7 3 (680Y) 35,900
JH. 100 DHKX 80,000& *100H 8,000
L. 101~300 Dk X 60,000 *200H 12,000
Ch.301~600 Mt X 45,000& *300H 13,500
2t .601~800 Nk X 30,000& x80H 2,400
04 ENSHLR=XH| 4,590 4,428 162
1.012 400,000& *x12& *90% 4,320
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N & o & AF & H Al A
20223 & =04 LBHSIAHLDIEISESIH dEXNJAL ~ 2SS
SM: HPD
FM: WEXE 2 29
o9 ST5D 58N IS MITY (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
21 8,674,596 2,294,570 6,380,026
2 14,000
Al 18,000
- 8,642,596
MEXNE & 29 453,299 393,885 59,414
Sdotl] E8H2 SFE WEEHY 453,299 393,885 59,414
SHE MHEZH 453,299 393,885 59,414
201 Let2d] 441,499 385,885 55,614
01 At 22l I 123,555 118,341 5,214
(der=&Hl) 35,935
1. 2423 A Al 2,000 105+ 155 *95% 285
2. 24AM 50,0003 *1005 *95% 4,750
JZUNBRNE 32,0002 #1005 *95% 3,040
420142 ZMH TR 8
5,000,000& =14l x95% 4,750
5. Z4HH ALY AN 5,500& *1005 *95% 523
6.Z2MTAE 23 5,000 «5H 202 «95% 475
7T HEME SUSIAMN BE
10,000, 000& 14! 10,000
8. X2 EHLUUEH 0822
20,000& =160 3,200
9.2HE =8 150, 000 *4 3] *95% 570
10.23 SEXAEHD 2t 2503 +20,00000 x95% 4,750
1T Og&#I| 22 110,000 *5J1 x95% 523
12.HIIH&a=ESHMeldl 250,000 23] x95% 475
13.2E2Ss3lHALEs+=
250,000& *43| *95% 950
14 XNESYMH BHE ALF
60,0003 *5& *42| «95% 1,140
5.3 A= ME 8,000& 605 x95% 456
16. &8 =95 X & 50,000 » 14! x95% 48
(=l) 800
1. 2MNHHRFA 8,000& »4H +25& 800
(2g9+¢) 12,900
1. 284TAAE =2 100,000& 5% 20 10,000
2. AL RAR AA=E 100,000 62 43| 2,400
S AHAMRUNE LA =
500,000& x13] 500
(Ut Z) 73,920
1. EXEAI X 8,00000 112122 »700H 73,920
02 =224l 317,944 267,544 50,400
1.2022¢ 3 M 34l 310,500
Jb.THolH = 2 S M A 2l 8l 46,000,000 46,000
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HH: HENY L 29
o9l: SY5D SBHO IFS WHIY

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
Lt. =0l B & S X A Sl 8 264,500,000 264,500
2. 2322 &H RAIEH| 262,000& 128 3,144
.3 HZHZESRE ME 25 2 4,300,000 4,300
203 ¥R =&XH| 3,000 3,000 0
03 AIHZ=XIH R F=XY| 3,000 3,000 0
1T HEEE 2= 3,000,000 3,000
301 dEtEX = 1,500 1,500 0
12 J|EtE &2 1,500 1,500 0
1.2 AHAR R Y 20,000 x5H 15 1,500
307 212t01 & 1,000 1,000 0
12 D12+ 012 & = H| 1,000 1,000 0
1. 2MEA/AY DS 200,000& *54H4 1,000
401 AIEHIL 20| 2,500 2,500 0
03 Al 201 Y] 2,500 2,500 0
1. F:0FHZSsE 20,0003 #2500 A~ +5 2,500
405 X+H&HF SHI 3,800 0 3,800
01 Mt = S F S HI 3,800 0 3,800
1.2322AAE &) 2
3,800,000& =1CH 3,800
HA2G 7,849,762 1,553,194 6,296,568
= 14,000
Al 18,000
- 7,817,762
2EAF 22| 637,448 618,400 19,048
e BABE XA 537,448 503,400 34,048
101 @121l 26,183 23,826 2,357
04 JI2ZtH 22 XNEE % 26,183 23,826 2,357
(BAEAALR) 26,183
1.9 23,617
.s= 9,160 * 157 Al 2+ x1H x12& 17,258
Lt . HHZAY| 130,000& *1H x12& 1,560
Ct. W SHl 60,000& *1H x12& 720
2t @ E F Oty 1,403,580& 1 *60% 843
O A2 RS
10,3703 *150%* 15 12 A 2+ = 12& 2,240
Hb . AR 62,220 *1H x16L 996
2ANBHNREY EEE 2,566
.23 EE = 23,617,000 %4 .5% 1,063
L HAEE = 23,617,000 *3.43% 811
Ch.EoE)AEE 2 811,000& *11.52% 94
ct.IEEEZ 23,617,000 *1.65% 390

_25_



SH W2 D
ol HASY
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
oL ATHERE Z 23,617,000& *0.878% 208
201 et 511,265 479,574 31,691
01 At 22l 120,162 102,471 17,691
(er==8Hl) 120,162
1.8AL 23 ¢t & £X & WX
10,000, 000& 10,000
2. 8AF EZE Hgate £X
48,0003 *5)H 2 +33] 128 8,640
3.2+&3stx EA 600
b A=Y 300,000& =13l 300
L. 2REE 22 AR A 300,000& x13] 300
4.3014EH € S+ 2
304,500& »12& 3,654
5. 3A &S He 450,000& x63] 2,700
6.2 HA(HA - IREHZEZ2ARL)
800,000& »23] 1,600
7.8A =EHAAMN =2 150,000& * 13l 150
8.AYFINA HHLEH SHFA K2
200,000& »12& 2,400
9.8AN EAEE L MYJIqZEsE P 49,210
}FELES 3,600,000& x12& 43,200
LE. A7 ZSS50L 1,400 12000 128 2,016
CH A2 RZESF75L 2,080 16000 122 3,994
10. 2 E AL 3tE A Hiol M= 2,928
8L 18,0003 *56 K 2~ x23] 2,016
Lt E2EHnE 24,0003 380 2 *13] 912
1. 2EAN AR SX=
1,000,000& »12& 12,000
12.3AROBHAAE =25 12,600
Jb. 2 EA 850,000& »12& 10,200
Lt. 2 RHE22lARA 200,000& 128 2,400
13.42A4 FE =22 (EAM, IR2HE 2L
INESE 700,000& x12& 8,400
14. 52 I X 22| 5,280
b.sZ) dEFHUY =3
200,000& *2CH«12& 4,800
L. EA S22 EIIBA =8
240,000& »2H 480
02 =224l 391,103 377,103 14,000
(S22 LHA) 319,403
lLUs®sY RE= 10,000, 000& * 13| 10,000
2. 801223 268,920
JbH.E A 21,710,000& 123 260,520
L. 2RHE 22 AR A 300,000& »12& 3,600
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ol HASY

& FFA 2el (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Ch = R=XE 100,000& »12& 1,200
et Bl MAH (UM SXS)
300,000& x12& 3,600
.46t AIBE ¥ S0E2RES 38,247
Jt.E A 3,121,250 x12& 37,455
LS 3=XE 66,000& 123 792
4. BE201& g3l 220
b At ord & 5l | 120,000& 12/ 120
Lt.st=2ds& )| =0l g3l bl 100, 000& 13l 100
6. =X MAIAE CIHY S M A
34,0003 *23| & +12& 816
7.E¥F=XE CCTValE AMFE R
100,000& = 12& 1,200
(A& & Bl =X dl) 68,960
1.8JIANE2 72l 29,000
JEIJIAMEEE(EIIME 7 & 2l
& 8) 2,000,000& x12& 24,000
L&Dl HOIZA & QENE £42
5,000,000& 5,000
2.Z8AE duH) ZHAH
11,000& »180CH 23l 3,960
3.EA AIEE XL (E2, 522,227
g) 2,000,000& x12& 24,000
4.FTAIAE SR &2 2,000,000& 2,000
5 23ESs ¥ EAMZE O3 &M
10,000, 000& 10,000
(e12Hl) 2,740
1.HAYED A= 1,370& %2004 *10 2,740
TEMN RANES 100,000 115,000 A 15,000
401 Al Bl 28I 100,000 115,000 A 15,000
01 A& HI 100,000 115,000 A 15,000
TLEANUSES=ZA 100,000, 000& 100,000
= HAr&el 1,234,000 484,970 749,030
Al 14,000
- 1,220,000
SENMN S22 60,000 60,000 0
401 Al B2 28I 60,000 60,000 0
01 A& HI 60,000 60,000 0
1.8&8A AIEE=Z At 60,000,000& =14 60,000
SEA WA EZ ALY 1,056,300 336,970 719,330
401 AIEHIZL 28I 1,056,300 336,970 719,330
01 A& HI 1,028,300 332,306 695,994
1.2828 WA EZ S A 778,500,000 =14 778,500
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Helr S FA2el (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
2.EHE1ES WHEAZZ S A 249,800,000 =14l 249,800
02 Zeltl 28,000 4,664 23,336
1.2828 WX EZSA Zeltl
20,000,000 =14l 20,000
2.8HE1Es HWAEL3A 2l
8,000,000 » 14 8,000
sds FUFAZI =4 14,000 0 14,000
Al 14,000
401 Al HIZ 2 048I 14,000 0 14,000
Al 14,000
01 A& HI 14,000 0 14,000
1.883 FUFAZ2 2&(S F20HE AtY)
14,000, 000& 14,000
Al 14,000
SE AL LIt 69,200 88,000 A 18,800
201 Let24E] 69,200 68,000 1,200
01 At 22l 69,200 68,000 1,200
1.40238 d¥=XNdEH &X= 50,000,000 50,000
2.RPHEOIES HEXF 24 EXE
1,600,000& 128 19,200
SHESAHEH HIAHAE X 34,500 0 34,500
405 TtabF S| 34,500 0 34,500
01 AL EFFHSHI 34,500 0 34,500
1. SYUISINHE MUHAE X(F 20 E
Ared) 34,500,000& 34,500
SEM AF 5,700,000 200,000 5,500,000
242 HdEEXNEH zc2a 5 2,000,000 200,000 1,800,000
401 Al HIZ 2018 2,000,000 200,000 1,800,000
01 A& HI 1,970,000 200,000 1,770,000
1.33&82 A= 2 A 1,970,000, 000& 1,970,000
02 Zeltl 30,000 0 30,000
1.33ax dF Zaldl 30,000,000& 30,000
dHs dF=NMH M= 3,700,000 0 3,700,000
401 A& IR 201 I 3,700,000 0 3,700,000
01 A& HI 3,655,000 0 3,655,000
1.2 58S A SAtH 3,655,000, 000& 3,655,000
02 2feldl 45,000 0 45,000
1.88s A Zeltl 45,000,000& 45,000
SEH gzl 278,314 249,824 28,490
= 14,000
Al 4,000
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S 280 e (&2 &)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
- 260,314
HEXSO a8 22 233,164 249,824 AN 16,660
201 et A H| 233,164 227,824 5,340
01 At 22l bl 13,290 10,350 2,940
(Lur2H) 9,450
| SE2(HSPE Y UEHHS &)
180,000& =20 CH 3,600
2.2 22 E =2 330, 000& *33] 990
3.2HE &%= 150,000& *20CH 3,000
4. 4L SAE= 15,0003 *2CH = 12& 360
50522 (o0l IHA) 750,000& =204 1,500
(S&d]) 3,840
| E22FA ML AY
8,000& x20 x2H x12& 3,840
02 352494l 219,874 217,474 2,400
(BZZ222LHA) 41,874
1. XS XA 6,050
.8 200,000& = 15CH 3,000
Lt. &S8R 80,000& =150H 1,200
Ct.at =S X 50,000& *31CH 1,550
et SR e 100, 000& ~3CH 300
2.UHSHEE 26,284
h.&s8X 330,000& = 15CH 4,950
Lt.&S& Xt 500,000& = 15CH 7,500
Ct.al =S X 404,000 *31LH 12,524
ct. S 270,000& =3CH 810
OF . &h == XH & 500,000& x1CH =13l 500
3.2 8 RYE 2 5,910
bS8 X 110,000& = 15CH 1,650
Lt. .3l =S X 110,000& ~31CH 3,410
Ct.SEXrs 150, 000& *3CH 450
ch. &t X & 200,000& x1CH x23] 400
4 XA AHHI (A D] - S8 55,000& =64 CH 3,520
5.4 4=Xtg A A 55,000& 23] 110
(A2dl) 130,000
1.5 2,000,000& =15CH 30,000
2.48% 2,000,000& *50CH 100,000
(Xtgk - HBrd]) 48,000
1. SR 3,200,000& x12& 38,400
2.4 Xt 800,000& x1CH*x12& 9,600
HYI S £ 45,150 0 45,150
= 14,000
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SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Al 4,000
- 27,150
405 XHAHF S HI 45,150 0 45,150
= 14,000
Al 4,000
- 27,150
01 XAt 2 Z F S| 45,150 0 45,150
1. 8|3 7Y 45,150,000 «1CH 45,150
= 14,000
Al 4,000
- 27,150
SSHQ MI|Ld 2el 18,000 14,000 4,000
HI&d 22 18,000 14,000 4,000
MO|&H EHESE 18,000 14,000 4,000
201 gEt24Ay| 4,000 0 4,000
01 AP 22| d| 4,000 0 4,000
1AM TZZ O Q) 3,000,000 =14 3,000
2.2AMN2E ES &Y Y 1,000,000 = 14! 1,000
401 AlEHIZ £ 0HY| 14,000 14,000 0
01 Al&Hl 14,000 14,000 0
1 AHYEHELEA 500,000 x284! 14,000
HEMSHAH (M) 353,535 333,491 20,044
oled 2 oty 273,206 256,722 16,484
ol AY| 273,206 256,722 16,484
101 Q124 H] 255,262 256,722 A 1,460
01 22 89,954 89,972 A 18
1.AI2 2244 89,954
ot.e2 12,1243 x6H 34 A| 2t x12& 29,680
.73 10,9523 x93 x34 Al 2F* 128 40,216
C.82 9,832 x5 x34 Al 2+ x 12E 20,058
03 22X (RIHSY)22XE = 165,308 166,750 N 1,442
(EANEASR) 165,308
1.8 165,308
.e= 9,160& *157 Al 2+ x7H x12& 120,803
L. &z Al 130,000& *7H «12& 10,920
Ch. W EHI 60,000& x7H x12& 5,040
ct. Y& 50| 1,403,580& x7H x60% 5,896
OF. A2 22 %
10,3703 *150%*7H x12A] 2t 12& 15,680
Hh . A X< 62,220 x7H 16 6,969
304 HBRE3S 17,944 0 17,944
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01 9222 7,439 0 7,439
1.200HZ2EE =S 165,308, 000& *4 .5% 7,439
02 20AUEEH= 6,325 0 6,325
1. 08828 & 165,308, 000& *3.43% 5,671
2. L0 RAEEE 5,671,000 *x11.52% 654
04 222 (2IHL) 22X D2BE2894=2S 4,180 0 4,180
1.0888a 165,308, 000& *1.65% 2,728
2AMHEE 2 165,308, 000& *0.878% 1,452
Jl=23&tl 80,329 76,769 3,560
JlE23Hl 80,329 76,769 3,560
201 et A | 24,949 21,389 3,560
01 AR 22l ] 24,468 20,908 3,560
(det==24|) 9,172
1. 28298 H| 200, 000& *x21H *80% 3,360
2.EH/EY 200,000& *3CH *33] 1,800
3.2¥YERE EH/EH 200,000& x4 = x23| 1,600
4. S2HECH 12,0002 x518 612
5. 840K X Hl 1,800
I ANRAFLILXE 30,000 x12& 360
LEJIAAE DXt E 30,000& x12& 360
ChS¥33g9:=IE 30|82
30,000& x12& 360
et IIANOHO 1 & E D] Xt =
30,000& x12& 360
O FHAF EAaFHA 01932
30,000& x12& 360
(BAIE ALY T=2H) 3,200
1. 8= 100,000& *8H *23| 1,600
2. &85 100,000& »8H *23| 1,600
(Z2dl) 12,096
1.8 RFXI| 2= &b
8,000& x21H 64! x12& 12,096
02 332494l 481 481 0
(BZ222LAMA) 481
1.28= 481
I &I 2,480@*x10S~12& 298
Lt Bt 380 *x40S 128 183
202 044 50,400 50,400 0
01 2L Yl 50,400 50,400 0
T HEASRF=EII2 0
20,000& x10L*x21H x12& 50,400
203 Y2 X Y| 3,780 3,780 0
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A
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g F0 ¥y Ho &2
S DAHASO QAMHA MBS (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
QI3 351,503 459,456 A 107,953
=2 39,972
- 311,531
0 #dFY Ho &2 115,049 227,557 A 112,508
= 6,000
- 109,049
DAHASO QIANMEIA MBS 96,779 206,287 A 109,508
ss&o PFXelNE 29 28,073 25,953 2,120
201 Let24d] 24,953 22,833 2,120
01 At 22l 17,481 15,481 2,000
(der=EHl) 12,561
1.8 & A4l 5,000& =100 *95% 475
2. 012% 8 HHER ZZXE HIIEDAM O
A 50,0003 10 *95% 475
301422 LR ¥ HR24 EE=
300& *5,0000H *95% 1,425
4.5¢H EH 200, 000& = 1CH 23] *95% 380
5.FAX EU 180,000& *2CH 33| x95% 1,026
6.8 s - ==& 26,000 *17box 442
7.0LBEN L=EAX 81,000& *8box 648
B.ASX SEER L=2EX
40,000& *10box*95% 380
9.1 Sx SES €8EX
42,0003 *4box*95% 160
10.&=8¥0] 2 200,000& *1box*95% 190
MGtEJNE =2 80,000& +12& 960
12.8l0¢ d2u=s HH= 018=
200,000& =303l 6,000
(=4l) 1,920
1.0IABIRARANTOES 224 HI
8,000 x5 x4 A1« 123 1,920
(2g9+¢) 3,000
1.0 XHAJS A 3,000
Jb.oI= 70,0003 x10H #3323 2,100
L. =Dt 30,000& x10H *33] 900
02 2324l 7,472 7,352 120
(S22 LHA 3,552
1.98=2 3,552
.S 2,530&3 10024 128 3,036
L. Bt 430 +1002 « 128 516
(A& ZHI S XYl 3,920
1. S88ELSIIHwXNE |
65,000 401 122 3,120
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S DAHASO QAMHA MBS (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
(A& & Hl =X bl) 26,720
1,200 ALTIRNZ LAY
150,000 = 13CH«12& 23,400
2. 20 ALZIIKRAEaH  200,000& =130 2,600
3.20002A4 37| AEIHECIHI FXE I
5,000& x12CH 128 720
QXD &= Ot XM 22 2,200 2,200 0
303 &3 2,200 2,200 0
01 &= 2,200 2,200 0
M AH=NE N RS RR Eo= 2,200
b2l f= 400,000& 1 #23] 800
L.e= 300,000 1«23 600
Ch. & 200,000 1 »23] 400
ct. =4 100,000 »2H »23| 400
HERASE YL 6,000 8,000 A2,000
= 6,000
INERHES Y22y 6,000 8,000 £2,000
= 6.000
201 Let24d] 6,000 8,000 A 2,000
= 6,000
01 At 22/l 6,000 8,000 A 2,000
TLAIR88 #¢ 100,000& = 12& 1,200
= 1,200
2. 52l EUY 200,000& *3CH *33 1,800
= 1,800
SIHFZHASSEMNADXASUHE
5,000& »24= 9 1,080
= 1,080
4.=AMEX 20,000& *8box*12& 1,920
= 1,920
Hagg 222 12,270 13,270 A1,000
NS YRSy 12,270 13,270 A 1,000
201 £B-2%H| 7,270 13,270 A 6,000
01 At 22/l 7,270 13,270 A 6,000
(fet+=&Hl) 7,270
TAMRES 78 100,000& 122 »95% 1,140
2.&=890| 2 200, 000& *1box*95% 190
3.0EESHEANA 150& *45 +4, 10001 x95% 2,337
4.STILSE HESE
1903 40024 x 122 x95% 867
5.8 ZelH EH
210,000 » 1CH *448 x23] x95% 1,596
6.EMIEH E 200, 0003 *2CH 23| *95% 760
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SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
7.FAX E U 200,000 * 1CH x23] *95% 380
405 XtabF SHI 5,000 0 5,000
01 AL 2B F SHI 5,000 0 5,000
1.2 & ACCTV A 5,000,000%14] 5,000
HESHALH (DR AY) 236,454 231,899 4,555
= 33,972
- 202,482
ol 2 AH| 193,294 188,739 4,555
= 33,972
- 159,322
ol 2AH Y| 118,935 116,884 2,051
101 @121l 115,318 116,884 AN 1,566
01 24 82,023 81,197 826
1.AI222+4 82,023
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N = 0l & At & Ml A

2022E = 20l A LB H L JIEIEE S H HAEX D ~ BESA Y
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gﬂ:xmwé 8
el MFEWRER EEREED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
KNI 1t 1,058,160 1,029,632 28,528
=2 101,639
- 956,521
B = S 775,974 751,296 24,678
= 101,639
- 674,335
AF=THEES 775,974 751,296 24,678
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- 674,335
A EHOI Al 2 23,450 25,120 N 1,670
201 2ok 2 Y| 7,700 10,100 A2,400
01 AFR 22l dl 7,700 10, 100 A 2,400
(eeta=H|) 4,200
1. X2 Al OF LY 24 Xt 6,000& *4002 x 15 2,400
2. M2 E 600& *3,0000H 1,800
(2g944) 3,500
1.AEANANORRG &AL 2,800
Jb.ola 70,000& x7H x4 3] 1,960
L. =1 30,000& *7H x4 3] 840
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ob.tiel=sg 70,000& *33] 210
L. &&= 70,000& *73] 490
203 &R =&H| 4,000 4,000 0
03 Al F=X SR =XH| 4,000 4,000 0
1TABEF=AHRFAH| 4,000,000& 4,000
301 LBHEH S 100 100 0
12 JIEtE &2 100 100 0
1AM AS A2 B A 5,000& x20H 100
306 23 11,650 10,920 730
01 &9 = 11,650 10,920 730
1. A2MARIs23E 11,650,000 11,650
X &A= ot 312,156 255,412 56,744
201 Yet2 | 306,156 249,412 56,744
01 AFR2 2t 2l Yl 65,846 56,692 9,154
(eta=24|) 65,846
1.5 SAH - SEHS AN DX A 45&x75,00004 3,375
2. 0 &EA 35,700
b EHMIOXA 453 %230, 00001 *23] 20,700
Lt s USEY 30& 230, 00001 *23] 13,800
Ch.EEotEE=Z 120& *5,0000H *23 1,200
3.FOUAM(MELAR) 4,725
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JbEMDIXA 453 x45,0000H 2,025
Lh MDD R E 453 %10,0000H 450
Ch. M= Sel 30& *55, 00004 1,650
ct. ERUUEES 120 x5, 0000H 600
4. SEHSMN(HAR) 4,800
b g A DXA 453 +80,0000H 3,600
Lt B S LS EH 30& *40, 000 0H 1,200
5. XL ASA 4,875
b2 ADXA 4531 +25,0000H 1,125
L. dA =Y Sl 30& +5, 000 0K 150
Ch.ADotHEES(HAXEASA)
1,200& *3,0000H 3,600
6.2MIAXM(=AIZ) 675
b2 AN2XA 453 *15,0000H 675
THMEBRAARS 6,600
b Z2HYO0MEEEHEN
250,000& x4 5 23] 2,000
L. SHYOIMEZHEU
200,000& »7CH »22 2,800
Ct. ol AYelEH 150,000 »4CH 33l 1,800
B MEARSE A 1,400,000& =13l 1,400
9.5l 2,100
b AN EE 50,000& 20 1,000
L X AlA R 100,000 «10& 1,000
Ch.E2NEE 100,000& » 12 100
10.M22HEZEAMHIA OIE2
66,000 «6IH 2 396
N.2EE2BESF 100& x1E*12,0000H 1,200
02 =224l 240,310 192,720 47,590
(S22S2LHA) 240,310
1.8t 430& *400,000A 172,000
2.37I 2,530& %27,000A 68,310
202 044l 6,000 6,000 0
01 SLHOYI 6,000 6,000 0
1.2 XA A 0L 6,000,000 6,000
K& Al & &St 126,894 148,732 221,838
201 YEr2 | 1,426 1,426 0
02 232gHl 1,426 1,426 0
THNRRHEEMAMEEX SN2+
118,800& 128 1,426
308 XtXIEHH SOl A 70,940 70,027 913
13 2SOHeHE & X 2 AL I 70,940 70,027 913
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Sl NFEHE S

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
1 EZ=EXNEANEEAAL S5
43,819,000 43,819
2.YEHAANAE ST B4 24,371,000 24,371
S.UHMANSLHEEESE 22AAE SIS
, 742,000 1,742
4 THHIUHREAHEEAAE ST E S
1,008,000 1,008
403 XX SRS K2 0| & 54,528 77,279 N22,751
02 2| 2SS A=2EAEAIS Y 54,528 77,279 N22,751
1AM RSEMEEA AT E 2 A AE(DR) P2
=H| 54,528,000 54,528
N&ge=2 5,730 5,730 0
201 LBt Y| 3,730 3,730 0
01 AP 22| d| 3,730 3,730 0
(=) 3,730
1TLHRAYLZZIAE TR EZ2SAHI
8,000& *37H x3A! x6& x70% 3,730
303 ZAZ2 2,000 2,000 0
01 ZAZ 2,000 2,000 0]
1. SS2MILIZAZ 2,000,000& 2,000
JHOI X & AS A X XA & D 48,731 60,718 A 11,987
101 121 H| 6,372 7,728 N 1,356
04 JI2ZtHIZ22NEES 6,372 7,728 AN 1,356
(RIS ASEHAMDHEHADER20]) 6,372
1.8 5,717
toieEa 73,280& 3 x22 4,837
L. =52 AXSS 73,280 x3H x4 880
2ASHEYE B8 2 655
. D882 5,717,000 x1.65%*105% 100
L. Z200HAZ2E& &S 5,717,0002 x4, 5%+ 105% 271
CHAEE = 5,717,000 0. 878%* 105% 53
ct.2oUALEES
5,717,000 x3.43%*105% 206
O S EIIRAEBEE =
206,000 *11.52%* 105% 25
201 et | 42,359 52,990 A 10,631
01 AP 22| d| 15,480 13,411 2,069
(dert==2H|) 14,050
1.E20HLHR T (2 E) 2,000 x50024 1,000
2.ANHOHLHE 80& 30,0004 2,400
3.25MSADIEEAN 340& «20,000AH 6,800
4 AN DHEQHLY B IT A 500,000 14! 500
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SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
5. 222HM# 20,0002 604 1,200
6.228 Y 50,0002 *3JH4 150
TANRESTY 1,300, 000& 1,300
B.HMARZEH(EUS) 250, 0003 24 500
9.4l 100, 000& *23| 200
(gx=2) 1,430
1. E3FEYL2UH 110, 000& »5CH 550
2.2 2l 110,000 *5CH 550
3.SAD BA(SED]) 165,000& = 1CH 165
4. HE 33,000 «504 165
02 8323l 26,879 39,579 212,700
(S32L2LHA) 26,879
1.8t 430 +50,000A 21,500
2.2 NEESAHY 5,379,000& =11 & 5,379
HE =LA X A 214,613 211,184 3,429
= 101,639
- 112,974
101 1A bl 61,858 58,627 3,231
2 30,927
- 30,931
M4 II2HZ22NSES 61,858 58,627 3,231
(g FEIHETAQAALEY) 61,858
1.8 55,707
tolE=s 73,2803 x 15«41 45,068
= 22,534
= 22,534
L. =5LHAINE 73,2803 x 15 8 8,794
= 4,397
= 4,397
Ct.nsS=E =t 3,0003 x15H 41 1,845
= 922
= 923
2ANSNEE BEES 6,151
2RI EE=
53,860,800 *4.5%*105% 2,545
= 1,272
- 1,273
L.AZEE= 53,860,800 *3.43%*105% 1,940
= 970
T 970
Ch.LolZl LBz
1,939,800 *11.52%*105% 235
= 117
T 118
. IEEEE 53,860,800 *1.65%*105% 934
2 467
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DN

D EMEEAE
2

CAEMEE fEH)
SA - BB (3) - NRAL - B Of & o il
- 467
oL ATHER 2 53,860, 800% *0.878%x105% 497
= 248
- 249
201 et 152,755 152,557 198
= 70,712
T 82,043
01 AP 2teltl 150,755 150,557 198
(et=8Hl) 149,355
P CECP TP Y] 132,575
Jb AL (HOIR)
5,820& 20,5005 *1. 1 131,241
= 65,620
- 65,621
L 2AARMESRLOIAME  24,2503+505 1.1 1,334
= 667
- 667
2.01ZANESFEYINAMZ =2 11,330
JH. O E 120,000 +80=*1. 1 10,560
Lt. ChAll CH 70,0002 10 *1.1 770
3. 01 Hi 4,000
L REMNHBAAS B AN EH
40,0003 20 & *23| 1,600
=2 800
- 800
LEHE =B A ZE 0D M
2,000,000 2,000
= 1,000
- 1,000
CtOHEFEBELIAIE = 400,000 400
= 200
T 200
4 HULABE(MNREE)S 1,450
Jbdlold =28 Ed ¢
250,000& =44 1,000
= 500
- 500
L AR ES 7Y 450,000& 450
= 225
T 225
(2e+¢) 1,400
| EESMATASRE YL
70,0003 x10H #23] 1,400
= 700
- 700
02 =24l 2,000 2,000 0
(A2 &Pl | XHl) 2,000
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X ZH -
L= B

el

N2 Bt
EHYE D
REH R

= _ — d =
SN FE - BA(SA) - MEAY - B 0l &t o e 2
1HE =8 S8EdH 3SR
2,000,000& 2,000
= 1,000
T 1,000
A2 44,400 44,400 0
204 X2 42 H| 44,400 44,400 0
03 EZ YR 44,400 44,400 0
MRS YBRAST A2
100,000& »37&H «12& 44,400
HY2FZH (MRD) 282,186 278,336 3,850
el 2l 160,256 156,406 3,850
ol 2| 160,256 156,406 3,850
101 14l 160,256 156,406 3,850
01 2= 160,256 156,406 3,850
TLAZLZ22xE 160,256
Jt.e=2 12,1243 »11H «34 Al 2+ x 122 54,413
L.7= 10,9523 x13H +34A| 2t+ 128 58,090
Ct.8= 9,832 *11H «34 Al 2tx 12 44,127
ct.og 8,887& x1H «34Al 2t+ 122 3,626
Jl2&dl 121,930 121,930 0
JlE2&l 121,930 121,930 0
201 Let2d] 27,232 27,232 0
01 At 22l 27,232 27,232 0
(gurag)) 5,920
1. 2A2E =2l 200,000& »37H x80% 5,920
(S4l) 21,312
TARLHESFAINS=AH|
8,000 x37H 64«12 21,312
202 4l 88,800 88,800 0
01 = LH 4 HI 88,800 88,800 0
TLASRIES=III=0H
20,0003 x10+37H 128 88,800
203 YR =& 4,698 4,698 0
04 EA2IYRFLH| 4,698 4,698 0
1.1 400,000& 123 *90% 4,320
2. =1t 5,000 «7H =12 «90% 378
204 MR AH| 1,200 1,200 0
01 Mg 1,200 1,200 0
1AM Y= 100,000& =128 1,200
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N = 0 &8 AFH Y & A AN
2022E = 20l A LB H L JIEIEE S H HAEX D ~ BESA Y
SA: B
M NEYS 524 B
S NLHBE (29 a8)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
A1 905,955 945,037 A 39,082
NESR 284 &4 556,793 597,708 N40,915
NEANE2S 556,793 597,708 N40,915
M & a2tel 515,993 555,708 N39,715
201 et A | 468,729 428,427 40,302
01 At 22l ] 119,361 119,559 A 198
(eer==d|) 116,381
F=0Al 19,390
. s8N A 453 %250, 0000H 11,250
Ll.=838 30& *x250, 000 0H 7,500
Ch.YECHHEER2(ZAH) 2,800 x1000H 280
ot HEHHEE S (M) 90& *4,0000H 360
NS IHAEIN2 24,380
.8 XM 45@ *308, 0000H 13,860
L. &¥s8 30& *x308,0000H 9,240
ERHUER2(EAH)
(2,800 *1000H ) *23] 560
. HREUHEER(MHX)
(90 *4,0000H )23l 720
KFS XA AE 2,063
.28 DXA 453 %27 , 50004 1,238
Ll.&2g8s8g 30& %27 ,5000H 825
S XA Y 4,125
.28 DX M 45& «55,0000H 2,475
Ll.&=838 30& *x55,0000H 1,650
S=D XA 10,950
.8 XM 453 *146,0000H 6,570
L. =¥sS8 30& x146,0000H 4,380
M A SO & 7,500
ot . SEoHHE 45& %100, 0000H 4,500
Ll.&2g8sg 30& 100, 0000H 3,000
N 2 E=2==DNI| 1,274
.ssgsSAAM 452 %13, 20004 594
L. XIENESSAEOHHZ 70, 000& *5B0X 350
Ct.ggsg 30& *11,0000H 330
MNUNXNSE=SsELHRHUE 113
b SEot 2 45% =1, 50000 68
L. =858 30 *=1,5000H 45
N2l == DX A 45& %60, 0000H 2,700
2SI 3,136
H.gxE 12,0003 60 720
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SH: B4
M NEYS 524 B
@2 NYNEB2S (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
L. XA ISR 380& *1,00000x3& 1,140
Ch.HAI2E et E 58& *22,0000H 1,276
1M.Ex-Z2sANAE2E 1,600& 800K 1,280
12.3x2sINEEN 200, 000& *2B0OX 400
13.9&88=F 403 x2F+20,0000H 1,600
14 AFMESMH===
3,000,000 x1024 x2.8% 840
5. 2SHARSI(LL)EHFFE
1,000& *1,600H 1,600
6.8 HAHEEMNS2FARUE
(2,000% #4002 )+(50% 3,000 *20XI & ) 3,800
17. M & XH 24l 2,264
JHHRAASINHOGEFSH, AL REAL X
NS 1,300,000 1,300
L M E XA e 524,000& 524
Ch. &Ml & Xh & S A H & 140,000& 140
. OIHUYZIMAMOIENEZ 300,000& 300
1B.MEAEIEDAM 1,400,000& 1,400
9. XM 2 HSEE A 1,100
Jb A= 50,000& 10 500
L XAl R 100, 000& x5 500
Ct.2AEZ 100, 000& =12 100
20. B HIRNILIAZEMEAOEZ
66,0002 x6& 396
21.ARSMU ENEZ N =2 100& *12,600AH 1,260
2. NEsSBLSENZME+2
1,660, 000& *3% 50
23 A EJE MHEUHE 27 = =2
2,000& »400A 800
24 AL MAMEtH 2L E LGRS Z 23,960
b XX ZElANAE AIES
3,960,000 3,960
L.2XAIE = 200& *100,000A 20,000
(S&Hl) 2,420
THEXNSEHS A CEZ A
8,000 6 «6A! x 128 «70% 2,420
(2g=¢) 560
1128 ARAJS S A= 70,0002 42 «23] 560
02 =224l 349,368 308,868 40,500
(A& & Hl =X bl) 5,875
1LAGEZMESECSAABE R E I
145,200 128 1,743
S ALEMEAANIHMESINAARRAE =
344,300 128 4,132
(S32L2LHA) 343,493
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@2 NYNEB2S (=& J)
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
1.282 340,612
bSOl 2,480& *4,400A 10,912
L. Bt 430& *190,000A 81,700
Ch.er(oie) 400& +620,000A 248,000
2. 2HYXNHAXL I SRS
48,0103 x50 128 2,881
203 YR =] 4,000 4,000 0
03 Al =X A2 =XH| 4,000 4,000 0
1. ANENESUHELSFA 4,000,000& 4,000
303 Z& 3 15,500 15,500 0
01 X243 15,500 15,500 0
TLHENESZAYS 5,000
b A S 19 X 100,000, 000& * 1% 1,000
Lt DtE S 24 Xt 67,000,000 *3% 2,010
Ct.otE =343 X0l & 39,800,000 *5% 1,990
2 HA=LHEHCE TS 5,000
Jb.tE 1A Xt 48,000,000 *1% 480
Lt DtEE2E Xt 34,000,000 *3% 1,020
Ct.otE =343 X0l & 70,000,000& *5% 3,500
SHENHESEEHEINS 35,000,000 x10% 3,500
A NA+=SHEHI =22 A S
2,000,000& 2,000
308 XXM S0 A 27,764 27,944 A 180
11 RIS OICHEZ A X 9| EF AR H 27,764 27,944 A 180
THA+LEEAAE R 22 ALY
27,764,000 27,764
FA2Y 40,800 42,000 A 1,200
204 AR HH| 40,800 42,000 A 1,200
03 EZ YA 40,800 42,000 A 1,200
LASEYSRISEYRZ U
100,000& 34 » 128 40,800
HE2HAH (A=) 266,513 271,280 AN4,767
el 2l 145,601 147,178 AN1,577
ol 2| 145,601 147,178 AN1,577
101 @124l 145,601 147,178 AN1,577
01 8= 145,601 147,178 21,577
T AZRZ2RE 145,601
ot.e=2 12,1243 x10G 34 Al 2t 128 49,466
.72 10,9523 x11H +34A| 2t+ 128 49,153
Ct.8= 9,832& x9H x34 Al 2tx 12 36,104
ct.og 8,887& «3H «34Al 2tx 122 10,878
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HE: HY2YFH(F4D)
¢l =gl CEE-ED
= _ — d =
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Jl=234l 120,912 124,102 A 3,190
Jl23Hl 120,912 124,102 A 3,190
201 Let24d] 31,176 31,912 A 736
01 At 22/l 31,176 31,912 AT736
(EEES=Yp 11,592
1. 2M28 =84l 200, 0003 *34H «80% 5,440
2. HMBRALDE 6,152
b ZEHZEHEY 172,000 = 1CH 63| 1,032
L. 2Bt EeHEY 160,000 =8CH 43| 5,120
(=4l) 19,584
1AL DAREFI =S A
8,000 «34H 641« 12 19,584
202 o4dl 84,000 86,400 A2,400
01 = LH o4 1l 62,400 64,800 A 2,400
SR RENI 20|
20,0003 * 10 x26H = 62,400
02 X 21,600 21,600 0
THEANEQALHIANE
225,000 x8H «12& 21,600
203 YR =&t 4,536 4,590 AB4
04 NI 4,536 4,590 AB4
1.2 400,000& 123 *90% 4,320
2. =1t 5,000 x4 123 *90% 216
204 AR A H| 1,200 1,200 0
01 ¥R 1,200 1,200 0
1AM PRI 100,000& 128 1,200
SEX NA+-LHEN = Z 29 82,649 76,049 6,600
LMY+ SS2G(FNHESEIH) 82,649 76,049 6,600
Nel+=e & 2te 73,824 67,224 6,600
201 Lt 68,824 62,224 6,600
01 At 22l 12,056 12,056 0
(dBr2=EHl) 9,636
1 UEHSSEESRUHE 73R x33,00004 43 9,636
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02 2324l 56,768 50, 168 6,600
1.282 56,768
b MEHESSHRAUHE
4003 *33,00021 x4 3 52,800
L HSEAXAMMEXNA 2,480 4002 43| 3,968
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o~ 2SN
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2N dE2SAD
M NEEFES Jletxd
S FESDS ¥ NAZ2H =& CERED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
HBSAMM 4,145,075 4,034,118 110,957
Al 518,450
- 3,626,625
NEHB3 JIBtxH 2,679,761 2,495,296 184,465
Al 101,000
- 2,578,761
Bl & NEHES F=A 93,558 90,595 2,963
NEHESFA 3,490 3,490 0
201 LEt2 Y| 490 490 0
01 AFR 2t2ldl 490 490 0
(2g94+4) 490
I T E VPN
70,000 *7H x13] 490
203 & R =&H| 3,000 3,000 0
03 Al F=X SR =AH| 3,000 3,000 0
1. 8325828 3,000,000& 3,000
FOXMYSNR 83,268 83,755 N 487
201 et A | 83,268 83,755 N 487
01 AFR2 2t 2l Yl 77,613 78,100 N 487
(get==24|) 16,173
1. 8383t =Es 1M 9,800
Il =0FEBSUESWMOII=,S=2,03)
20,000& x490H 9,800
2. 8BS NEE A 4,680
JF.USBOI 2 2l 25,000& *4 1 *95% 95
Lh.otol2 24 & Xl 25,000& *55F A x95% 119
CHEYH(E) 170,000& *3CH *33| x95% 1,454
chEH(2) 250,000 *3CH *33] *95% 2,138
0. = AIES X 26,000 #1028 A x95% 247
H AR ES 30,000& *123] *95% 342
AL B0l 15,000& 208 A x95% 285
3.F00A8E5lNEs 2= MEH 1,093
b ZAH 2,000& x2005 * 13| *x95% 380
[ S 500& *1,500% *13] x95% 713
4. DY ol 2el=4+=2 50,000 x12& 600
(Z&Hhl) 1,440
18840 29 2 AT =44l
8,000& *x3H x64 x 102 1,440
(2g94%) 60,000
1. 3EStusS2AY
0,000& *2 Al 2t* 150 x5H 60,000
02 533294l 5,655 5,655 0
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2N
X ZH -
L= B

el

2SN
UHBE BN
=EENPN-EX-

£AH-ZH -2 (SH) - MRAY - BHES Of] Ak %Ei Hns2Z
4. ABAASHAIEE 600,000 =14 600
02 SB32gHl 7,000 6,000 1,000
(A& ZHI S Xl 7,000
1.EHO0IX 7= IZa B 7,000,000& 7,000
MBS A AR 236,654 237,096 NA442
201 L2 211,654 207,096 4,558
02 2229l 211,654 207,096 4,558
(2222 2 MA) 24,000
1.22012XAE2 2,000,000 128 24,000
(A& &=HISXIHl) 187,654
1ESAILZAALY S 24|
160,600,000 *7% 11,242
2.2UetAlAE S 2|
136,213,600 +7% 9,535
S.AHILASIAIAE S X224
23,392,854 «12%+62,662, 0002 7% 7,194
4. 0OIEHIOIA X2 4|
108,789,000 «17% 18,495
5. 2HO0IXAAE XS4t
2,001, 160% x 122 +170, 5002 x6 2 25,037
6.2L2I0IAAE SXIE4H|
18,176,000 *12% 2,182
7.5 200 AAE S22
171,7502 128 2,061
8.SE8AERIX RXEE2H|
339,628,000 *7% 23,774
9. AT MAAAE KX 2H|
86,796,900 7% 6,076
0.HEUSHHHUAA AL X S4H]
76,010,000 = 12% 9,122
. QB UWAAAE QT4
72,000,000 *12%+9, 603, 000! *7% 9,313
2. AHE 258 L4
40,000,000 *7% 2,800
13.2HO0IX ALSFHAAH KLt
35,500,000 7% 2,485
14 AADEBHE2H QAL
23,650,000 7% 1,656
BIHUHESEYNSRH S22
22,170,000 7% 1,552
16.202% EAXHAIAE(IPS) S X E2H
18,700,000 7% 1,309
7.NHEZ2HOHAALE SX 22
500,000 112 5,500
18.0BE 2 MO AIAE X224
42,620,000 *12% 5,115
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Al
23t Jlgtxd
SBAAHEZ2SH

= - 4 14
M- o9 (B H) - MEAY - B2 %Ei HR=2
19. 0|2 S 2ACAAE S B4
21,950,000 x12% 2,634
20l BE 22 2 AlAEY S X241
98,000,000 x12% 11,760
21. ES2 022 A AE 94,500, 000 7% 6,615
22 PCH U HUAAE X E24H|
37,000,000 x12% 4,440
23.PCOHOI B B2t 2| Al A8 S X2 =H|
48,730,000 «7% 3,412
24 B otUSB2t 2| Al Al S X2 2=H|
62,313,000 x7% 4,362
25 . BB AIAEA AX SXESH|
41,477,000 «7% 2,904
26.828s5)| S 242H|
26,411,000 x7%+21, 158, 640 x7% 3,330
27.RLEANERJ_AEX KRAEH|
27,945,000 x7%+25,607, 000 x7% 3,749
405 XHo&HFE S HI 25,000 30,000 A5,000
01 AL 2B F S| 25,000 30,000 A5,000
1.2 22 fgsse NEF 25,000,000 25,000
SIH0IH 24 & dAMEz 32,400 4,600 27,800
SBIH0IE HHER 32,400 4,600 27,800
B2 A Y| 32,400 4,400 28,000
AP 22| d| 10,400 4,400 6,000
(29 424|) 2,000
1.8/00/e ¥ 2200l EE22 M&
2,000,000& 2,000
(2d2Y) 8,400
1.GI0IE &8 923 s 2A =¢
250,000 *6 Al 2+ x4 3] 6,000
2.00IED|EtHA & H3 NEFE
100,000 *2A| 2t *33| x4 H 2,400
02 B232%H4| 22,000 0 22,000
1.HOIHZ E= =3 2= 2=
22,000,000 1Al 22,000
22| 248,580 247,380 1,200
& AHE Y 2 e 13,800 13,800 0
et AH| 13,800 13,800 0
2229H| 13,800 13,800 0
(A& &Yl S XHl) 13,800
1.8 AEHI R X E 5= 13,800
o EEH 900, 000! *400CH *3% 10,800
L. ZglH 500,000 *200CH *3% 3,000
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SN HESAD
M NFFL3e Jlgtxd
chelr BB XL CERED
= - = 4 &
SH BB (3H) - NRAE - BAS of 4 o4 il HI RS2
FANEHLATHES 126,900 125,900 1,000
405 At&tH S HI 126,900 125,900 1,000
01 & =S FHSH 126,900 125,900 1,000
1.3 78 900,000 »100CH 90,000
2.2LIH 210,000 = 100CH 21,000
3.2gH 530,000& =30CH 15,900
AR AZEANH E= 72,000 71,500 500
201 2er= 72,000 71,500 500
01 At 2t 2l bl 72,000 71,500 500
(geh=2Hl) 72,000
1.8 AZTEYNH F+ 72,000
b8t 3 88,000 & »2504 22,000
L. MSL 1| & 250,000%2004 50,000
FE2 & HUFEES 35,880 36,180 2300
201 2Bt2 | 33,880 34,480 A600
01 At 22l bl 33,880 34,480 A 600
(Let=3Hl) 30,000
1.PC2 HtOlA A Al ¢
25,0003 =1, 2004 30,000
(29+%) 3,880
1322 & HIEEES W=x 3,880
b 2R 2 HAZEERES NotstsAlA
8 28 1,440,000& 24 2,880
L EEDS(NE )
250, 0003 *2Al 2t %23 1,000
303 Za= 2,000 1,700 300
01 2= 2,000 1,700 300
(Z&3) 2,000
THOUEEXCIEE 8t 224 243 2,000
h.zles 500,000& *2I1 £ A 1,000
L. 2= 300,000& *2J4 2 A 600
Ct.&d 200,000& »24 & A 400
FESAAMBIA HES e 545,053 616,114 AT1,061
JESHY 29 211,548 182,398 29,150
101 212 8] 13,841 0 13,841
04 JIZAtNZ22XNSES 13,841 0 13,841
(nea dstag oy 19) 13,841
1.80 12,420
FrolEs 73,2803 x 1262 «1&H 9,234
Lh.F=5+¢ 73,2803 x262 14 1,906
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2AN: 32Sal
M NEEFES Jletxd
ol HESMALA A2 CEEEED
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
Ch. AR 73,2803 x6L x1H 440
ct. S A 140,000& *6& x1H 840
2. 201432 12,420,000& *4 .50%* 105% 587
3.HALEE 12,420,000& *3.43%*105% 448
4. MIQAEEH 448,000& *11.52%* 105% 55
512288 12,420,000& *1.65%* 105% 216
6.0HE S 12,420,000& *0.878%*105% 115
201 et A bl 197,707 182,398 15,309
02 3524t 197,707 182,398 15,309
(2222 % HA) 197,707
1. 83 E 2 144,500
b HE MG 9,000,000& x12& 108,000
LE. 2Bt M S 15,000& *753| &+ 12& 13,500
Ch. A2 W2 x=AE3E 10,0003 %203 & +72 1,400
ct.gREFUHE 60,000& =18CH = 12& 12,960
OF.TRS(S & 1) 40,0003 =180 = 12& 8,640
2.0 HUYAIEZ 20,424
D T E= PN 75,0003 13| & x12& 900
LI A2 SAHEE & 40,0008 *113 & *12& 5,280
Ct. .28 AHlA 35,000& 13| & x12& 420
ch. 2220/ 0] 36,000& *323| & x12& 13,824
3.0 23HMES 28,659
H.8E3EE3H(T/D)
23,4853 *323| & x12& 9,019
L. OIHY MG 3 M 2,200& *Q0H & x12& 2,376
Ct.olHY NSlE 834
315, 150& =13 & x12& 3,782
2t .PSTN & 3tal & (ISDN PRI)
132,000 *33| & x12& 4,752
0. FEEESAMY 363,726%23 & x12& 8,730
4. AHOIETV AIE & 6,600 x46CH x12& 3,644
5. 348&E538ds 40,000& x12& 480
HPSATR 25 - DT 8 70,000 209,500 139,500
405 XtabF S| 70,000 209,500 A 139,500
01 AL 2B F SHI 70,000 209,500 A 139,500
1.LEIAIAE 2Od0le & 22 4
40,000,000 * 14 40,000
2.22 A0IWOIE 2E(F ZHOE AY)
10,000,000& *x3JH A~ 30,000
HBESAMANAE 29 261,025 221,736 39,289
201 2yt 2 Y| 221,025 201,736 19,289
01 AFR2t2ldl 11,900 1,900 10,000
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0% >4 0x
HT J8 HT
O 0% ofm

'
CE-IPETE ST
AABIA 2225

SN BB (HA) - MM - BES 0l &t o il
(Ler==gHl) 11,900
1.88A28 22 1,900,000& 1,900
2.456012 REMAAFI(UPS) SXX WA
10,000, 000& 10,000
S22l 209,125
(A& &8l S X8l) 209,125
TLUHERAIAIAE 79,907
Jb. .82 A 2R (40H) 204,930,000 *7% 14,346
LE. LAA 2 X (40H) 86,000,000 *7% 6,020
Ch.L3/L2A 2 X1 (104CH) 631,989, 000& *7% 44,240
ch.ctH (40H) 11,671,000 *7% 817
OF.NMS(14!) 46,480,000 *7% 3,254
BHLUERI AR 25 (14])
160,422,000 *7% 11,230
2. S otAIAE 41,643
Jb. 2 sk (60H) 199, 190, 000& *7% 13,944
L. L2 RAIAE(20H) 61,060,000 *7% 4,275
Ct. &S 3t&HI(30) 110,243,000 *7% 7,718
ct.DDoS CHE &I (20H) 71,610,000 *7% 5,013
O E2HAHERE(141) 48,360,000 *12% 5,804
Bt. S22l AIAE (1)
40,740,000 «12% 4,889
3. &stn e At 66,721
Jb. KXW EI(VolP HOIESRIOl 14)
36,448,000 *7% 2,552
L. IPE S W &Il (20h) 110,698,000 *7% 7,749
Ct.ZAH0H(2CH) 3,000,000 *7% 210
b sSFHAAL(14]) 31,447 ,000& *7% 2,202
OF. Z2HAIAE(24)) 26,372,000 *7% 1,847
Bh. &30 (1,6570H) 607,160,000 *7% 42,502
AL EFI1(14]) 4,500,000 *7% 315
OF.VolP Z3te (20H) 55,285,000 *7% 3,870
Xt.VolP IOl E<I0I(32CH)
23,680,000 *7% 1,658
b QIE S A Al A G (14])
54,506,000 *7% 3,816
4. 2S£ 101,552,000 *7% 7,109
5. 943 A 15,910, 0003 *7% 1,114
6. 2L ZAl&H| 4,028,000 *7% 282
7.0l S EE X EH 40,000,000 *7% 2,800
g.&=esdl 28,280,000& *7% 1,980
9.2 A2 EXI(UPS) 108, 123,000 *7% 7,569
401 A& HI L 20l 40,000
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A 3E2SA
M NS JINEY
Chel: §BSAMUIA S5 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 A& HI 40,000 20,000 20,000
.72l SMEZAE FHI 20,000,000& 20,000
2.22 A0IIOIE PE(F SO0 AY)
20,000,000& 20,000
FESAUS A AEHZ A 2,480 2,480 0
201 L2l 2,480 2,480 0
01 A2 22l H| 480 480 0
(Lor2gHl) 480
| IZH(ASHESA SR 222 - o1& 5)
120,000 »2H »23| 480
02 =224l 2,000 2,000 0
(A& & Hl S X8l 2,000
LASHZAN HSZY DE
2,000,000& x13l 2,000
CCTV S AIZH At Y A=2H 1,383,645 1,144,458 239,187
Al 101,000
T 1,282,645
CCTV SEZHUH =299 1,246,645 1,106,458 140,187
201 LB-2E| 1,030,395 1,073,808 A43,413
01 At 22l 8,616 8,571 45
(2g4+9) 4,920
1 QUFSHD SYARE BE 2
100,000 x6H 13| 600
2.2 - =2d| 60,0003 63«12 4,320
(Yet==gHl) 3,696
1.SEZHMUEH 23l 3,696
Jb.EA A2 E 425,000 *43| 1,700
Lt XI2AD] AAEZ 33,000 128 396
Ch.3J21830 2H 300, 000& »2CH 600
ct. 80 dXE 30,000& 10 =122 360
Ot AP EANE 5,000& 32 *43| 640
02 =224l 1,021,779 1,065,237 N 43,458
(8223232 % HA) 690,267
1.CCTV S4e=3 611,280
e 83 d
55,000& 5263 & «12& +80, 000 * 1613 & *1 501,720
23
Lt.KT &=23ld
80,000& 1003 & «12& +250, 000& 13| & 12 99,000
!
Ch.SK & =23 80,000& x113] & *12& 10,560
2.CCTVHDIR 3 7,000 *900H &+ 12& 75,600
3.CCTVEJte3 4151 +680= 128 3,387
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el
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CCTV S AIZHHM Atslord 2 A=

HNYE S A

o LS

23t Jlgtxd
g

H0

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
(A& & Hl =X bl) 331,512
1.CCTV SE2HMAAE 331,512
I 2R AL A E 1,866,883,000& *6% 112,013
L UERZ & EtAIAH
126,383, 0002 *6% 7,583
CH.CCTV Al A 3,531,933,000& *6% 211,916
401 AIEHI L 2] 50,000 27,900 22,100
01 A& Hl 50,000 27,900 22,100
1.CCTV &1014 S At 5,000,000 *100H 2 50,000
405 RHoHE S HI 166,250 4,750 161,500
01 AL EZFH S 166,250 4,750 161,500
.20 2UHE PC RH P
1,650,000& »25CH 41,250
2.SEZMAIAE 2ot WA
50,000,000 = 1CH 50,000
J.SEEM MAHYS Z2IAAE(CCTVE)
75,000,000 =14l 75,000
HEOHME CCTVE= 36,000 12,000 24,000
401 Al HI K 201 I 36,000 12,000 24,000
01 A& HI 36,000 12,000 24,000
1. &0r™ CCTVAEXI (7 EHOE Arg)
36,000,000& 36,000
CCVE A EESHMY A=52Y 101,000 26,000 75,000
Al 101,000
401 AIEHI L 20 101,000 26,000 75,000
Al 101,000
01 A& Bl 101,000 26,000 75,000
TSI CCTV EXI (S #2#0E AtY)
101,000, 000& 101,000
Al 101,000
HE2IAZH(FBESAD) 1,465,314 1,538,822 273,508
Al 417,450
- 1,047,864
el 2 1,380,838 1,452,826 AT71,988
Al 417,450
- 963,388
ol 2| 106,072 105,001 1,071
101 14l 106,072 105,001 1,071
01 2= 106,072 105,001 1,071
T AZRZ2RE 106,072
ot.e=2 12, 1242 «6H «34 A 2t 128 29,680
.72 10,9523 x 10 34 A| 2t 128 44,685
Ct.8= 9,832 x7H *34 Al 2tx 12 28,081
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2SS4
HY2LZH(FESA D)
ol 2o bl (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ct.o=g 8,887 1P «34Al 2t+123 3,626
oz 24 (CCTV 2 H&) 1,274,766 1,347,825 AT73,059
Al 417,450
T 857,316
101 14l 1,149,957 1,347,825 A 197,868
Al 417,450
T 732,507
03 BRI (RIAHY)2ENHES 1,149,957 1,347,825 A 197,868
1.CCTV 2tAI& 1,149,957
FH.olEs
9, 160& *191Al 2tx102%=* 1274 & «32H 685,268
Al 417,450
- 267,818
L. B gAY 130,000 1201 & x32H 49,920
ChwsS2 4 60,0003 x 1204 & x32H 23,040
ct.ortz224
10,3373 x50%+7 Al 2t+x8H «3652 105,645
oh.5e22+4
10,337 & x150%*7 Al 2tx32%H 20 69,465
Ht. O 2 & Y| 10,3373 7 Al 2t%32H « 10 23,155
Ab.EE S OHHI
9,160 *191 Al 2+ 102%*60%*32H 34,264
Ot. 2el==¢ 50,000 1200 & »4H 2,400
i EAEES 2,450,000 201 & 32 156,800
304 HBRE3S 124,809 0 124,809
01 A3 2E3 51,749 0 51,749
1.322093 1,149,957,000& *4.5% 51,749
02 ZAHLEEHS 43,988 0 43,988
1. 2228 1,149,957,000& *3.43% 39,444
2. EIIQYEH 39,444 ,000& *11.52% 4,544
04 SR (RIAHAL)2ZNVEEZERRL3S 29,072 0 29,072
1. 0828 1,149,957,000& *1.65% 18,975
2.ATHE E 1,149,957,000& *0.878% 10,097
Jl2Z3l 84,476 85,996 A 1,520
JlE&l 84,476 85,996 A 1,520
201 ¢er24l 18,896 18,896 0
01 At 2t 2l 18,760 18,760 0
(ger+=&Hl) 4,360
1. 242 =2l 200, 0003 *259 «80% 4,000
2. 809Xt E 30,000& 10 =122 360
(=&l) 14,400
1.EE2SUNHRFII =S4
8,000 «25F 641 «12& 14,400
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